(DENG21)

ASSIGNMENT 1

B.A/B.Com./B.Sc./B.HM./B.B.A/B.B.M. DEGREE EXAMINATION, DECEMBER 2020.

(b)

answer :

Second Year
(i) ENGLISH PAPER - 11

MAXIMUM MARKS :30
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Read the following passage and answer the questions :

True economy consists in always making the income exceed the outgo. Wear
the old clothes or little longer if necessary ; dispense with the new pair of
gloves ; mend the old dress, dine on a plainer food, if need be ; so that under
all circumstances, unless some unforeseen accident occurs. There will be a
margin in favour of the income.

(1) Where in the true economy?

(11) What are the three domestic things mentioned?
(111) What does the writer say?

(iv) Write the antonym of ‘exceed’.

(v)  Pick out the word from this passage which is the synonyms for ‘repair’.

Read the following paragraph and answer the questions by choosing the right

The press and public were all fire and fury, especially in America. A bill was
passed by the senate according to which the manufacturer of nitro-glycerin
would, in the event of an accident, be charged with murder and liable to be
sentenced to death by hanging. Britain introduced safety regulation which
amounted to a virtual ban on the import and manufacture of nitro-glycerin.
France and Belgium made the possession of the dangerous oil. Alfred Nobel
saw himself face to face the ruin. There was only one way out of the dilemma
; that of trying to solidify the oil so that it could be transported with absolute
safety.

(1)  Nitro-glycerin was manufactured by
(1) The Scientists
(2) The Nobles
(3) The Doctors

(4) Larsen.



(1) A virtual ban was put by
(1) Britain
(2) Belgium
(38) France
(49) America
(1) Nitro-glycerin is
(1) Medicine
(2) Dangerous weapon
(3) A dangerous oil
(4) Gun-powder
(iv) The man who tried to solidify oil was
(1) Larsen
(2) Pringle
(3) Nobel
(4) Alfred Nobel
(v) The press and public were all fire and fury in
(1) France
(2) America
(3) Belgium
(4) Pringle
Answer the following in not more than 100 words each :
(a) How did books enrich Keller’s life?
(b) Comment on L.A. Hill'’s views on Freedom

(¢) Why did Orwell change his mind and decide to shoot the elephant?

(d) What are the factors contributing to knowledge society?
Answer in about 200 words :

(a) What exactly is Man’s peril according to Russell?

(b) What are the principles of good writing according to L.A. Hill?

(¢) Summarize Gandhi’s experience as a student in London.



4. (a) Answer the following questions in about 100 words :
(1) Why does Ulysses want to leave Ithaca?
(11) What is India’s gift to the First World War?
(111) Write an appreciation of the poem “Mending Wall”.
(b) Explain the following :
(1 ‘Tam apart of all that I have met’.
(1) Good fences make good neighbours

(1) I fall upon the thorne of life ! I bleed !

5.  Answer the following in about 200 words :
(a) Write an appreciation of the poem “Because I could not stop for Death”.
(b) Browning’s “The Last Ride Together” is a dramatic monologue. Discuss

(¢) Summarize the poem, “Advice to fellow swimmers”.

6.  Answer the following questions in about 200 words :
(a) Explain how “The Lottery Ticket” is a study of human psychology.
(b) Describe the friendship of Subha and Pratap.

() Attempt an evaluation of the grain merchant’s character in ‘Diamond Rice’.
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1. Read the following passage and summarize it :

There are times when the night sky glows with bands of colour. The bands may
begin as cloud shapes and then spread into a great arc across the entire sky. They
may fall in folds like a curtain drawn across the heaven. The lights usually grow
brighter and then suddenly dim. During this time the sky glows with pale yellow,
pink, violet, blue and red. These lights are called the Aurora Borealis or the
Northern lights.

The solar particles from the sun enter the Earth’s magnetic field and collide with
gas particles in the Earth’s atmosphere. These collisions create the Northern
Lights.

The kinds of particles bumping into each other determine the colours of the
Northern lights. If the solar particles collide with oxygen, the lights produced
might be green or yellow. When the solar particles run into nitrogen, the lights
tends to be red or blue. How fact the particles are moving determine the size and
shape of the lights.

In ancient times people were afraid of the lights. They imagined that they saw
fiery dragons in the sky. Some even concluded that the heavens were on fire.

2. Write an essay the following :

(a) Advancement of science and Human life
(b) Communal harmony

(¢) Globalisation.

3.  Answer the following :
(a) Write a report on how you intend to spend your vacation.

(b) Write a report to the editor of a newspaper on Eve teasing in your area.

4. Use the following idioms and phrases in sentences of your own :
(a) Lion’s share
(b) Cake walk

(¢) Monkey business



(d) Better late than never
(e) A dime a dozen

() Beat around the bush
(g) When Pigs fly

(h) Best of both worlds.

5.  Answer the following questions :
(a) Write a letter to a friend inviting him to your hometown.
(b) Write a dialogue between you and a shopkeeper at a bookstall.

() Write a letter to a publishing house asking for a catalogue of its latest
publications.
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Answer the questions.

IR fazrd|

(a)

(b)

()

(d)

2. (a)

(b)

Sketch the character of Duryodhana as described in Urubhanga.
GAlEreR 2fte umIfRRT od ?

Sketch the character of Jeemutha Vahana as described by Sriharsha.
SfeaaTgerar 2ftet urfemol 5 2

Sketch the character of Baladeva.

TR A} e ?

Sketch the character of Sudama (Kuehela) as described in Sri Krishnasya
Maitri.

FoorR 2fte amIfRR $5d ?

Describe how Viswamitra attained the status of Brahmarshi.

faeanfnr: oo geafd: sreq ? faergad?

Write the substance of the story
“farat: Sso?
ferendtysafafer wemm: ARl forzrd 2



Explain the following with reference to context.
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Write in brief note.
gt forzrd |

@) R b s
€ HETRRIOT (d) IR



(DSAN 21 (NR))
ASSIGNMENT 2

B.A./B.Com./B.Sc./B.HM./B.B.A./B.B.M. DEGREE EXAMINATION, DECEMBER 2020.
Second Year
(i1) SANSKRIT PAPER —II (NR)

MAXIMUM MARKS :30
ANSWER ALL QUESTIONS

1. Define and illustrate Alankaras.

AT AT FHAfeId T RIOT feria |
(@) I (b) PR
(© 3focazeam: @ 3

2. Write the forms of the following Sabdas.

forfdfie fasanRsy rsqmaTfon forera|
(a) STCHP (i) (b) T (V)
© I (aqef) (d) 3G (V<)

) F&H (v (Y ©® ag(g) (FaH)
(e) UG (M) (¥sdh) () B () (v

3. Write the forms of the following adding the given terminations.

FATCIIT ATt ferad |

(@) F+da (b) ST + A
(© @Y+l @ 3R+ g
(e) Sit+axa ® g+ad

(@ fa+for+wag (b) 310 + |



Translate Sentences into Telugu or English.

STGERTIRIT AT STFTHTITRIT 3efared |

(a)
(b)
©
(d)
©)
®
(®)
(b)

SRmTeg fUdT gore:|
EICIGEREIGE]
Adaal #a, fqgearal

378 Vifctfeket UTo2mTeT Sresi|
T STeRT Pt |
fage 9 gead |

I Iol AFHTIOT T |

et 3&Ifer e |




(DHIN 21 (NR))
ASSIGNMENT 1

B.A/B.Com./B.Sc./B.HM./B.B.A/B.B.M. DEGREE EXAMINATION, DECEMBER 2020.

(a)

(b)

©

@)

(i)

@)

(i)

Second Year
(i) HINDI PAPER - II (NR)

MAXIMUM MARKS :30
ANSWER ALL QUESTIONS

forrstfeafaa TeeT BT JSRIST SATTAT HifTu|

3o B AaT B, ORI BT B 9T

forsfeT Fefet & W, g GAIRT &A1 |
3R &fct fe] g Y, wfcrdrera st arfal

fgHet 0w afer, eia fBhe S1fg i
fdbctepal Plog ggrafel 3mad|

AT Beldb 51g &b 39T, fod UBRe arad|
Hag, forRa B 3 Bl B, B AT Ibel aTea|
fdbeTeh! Gt Ie1d G gfarl, gfer-gfer forfg ramedl
Bofc~${{H TR B~ UITBTA, g SUHAT 5 il |
BR-BR WfcruG dfcwel S, BH St AT |
3R R o @ifd, IR P, Y Bl gl fo=mafal|
AT B G162 3R oGP B AR

&l B Biest @t g1a B3 91|
JT-GH & AR e A

IE Siiae gl IR ;

o5 T & 3AeTet gl 2fen

o5 2rfe1 3 3fisteT 8 el



(i) ORI 3T # dAle-cle-dlc ;R S UL,
geoll &b Sl B -AID DTS §U B

Hiar &1 AR feikau

(2) ¥Rd ay|

(b) ¥R Bt [Jerar|

(© JH-gl

B BT IR G|

() PuIZGRI|

(b) Aferetteror |

(© JFFTeige ud|



(DHIN 21 (NR))
ASSIGNMENT 2

B.A./B.Com./B.Sc./B.HM./B.B.A./B.B.M. DEGREE EXAMINATION, DECEMBER 2020.
Second Year
(i) HINDI PAPER - II (NR)

MAXIMUM MARKS :30
ANSWER ALL QUESTIONS

1. v w ferger forlam)
(a) TIIaROT 3R vguw|
() fasmet 3 gifor-am|
(© 39T o1 BI-geriGr|
@) It 3R FAI
(e) SRASPIRI B IR

2. WIfEcy fdwy w forgy ferlau
(a) deemen Fretter WfEcar 6 wRa vafrdt W vaTe Sifere
(b)  PUIHTE AR B fIBRI TR TeBIeT STeid §U IRG b Hged TR HabIeT Sifey

(© e s wffrle sfd & w9 # [{Tart &1 gediee Hifm|

d) dch P TP W e o ol ITH SR WG Sif & TTel & forenfed
Hifom|

3. fomsifciRad 1 &1 fBoqt # 31efaTG Sifor|

Only the lazy man is a sinner. The idle mind entertains bad ideas. There is a
proverb that the idle mind is the devil’'s workshop. There is no greater sin than laziness
and inactivity. Every one should avoid these at any cost. The only way to avoid these is
to engage one self is good deeds. Service to patients, help to brothers and sisters, co-
operation with friends, respect and service to teachers are deeds in which men should
engage their mental faculties.
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Investment Banking.

b&éo)a)& zs°§o§oﬁ.

Unorganised Sector Banking.

D580 570 e5080h BorHw.
[

Life insurance.

298 Hdoe.

Features of pass book.

DPYVEO BE); OFETTRD.

-0
Endorsement.

D0eByR00e5 (DBBPHHW).

Merchant Banking.

;6361)095 zo*;soéoﬁ.

Crossing of cheques.

DE,00 [S°OR.



10.

11.

12.

Define Unit Banking. Write the advantages.

A5 23°5080MR0 DESDON TR ergren [FPaf0s.

Functions of state finance corporation.

fsgeg P SPEHBBRO B Do,

What are the essential features of Endorsement and Crossing?

D0GE)30065 5080w (SPR0R 5858 LFETed 95BoBVOE.

Discuss various types of Lien.

29 8570 OS (&0WER ToKd), ) o0 HBYoWod.
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1. Define commercial bank. Explain the achievements of commercial banks after
nationalisation.

Telesg g0 DYGDOHOG. BBEGEs V0BT Treesg ergoLR (HHBD DIBOWOE.
2. Explain briefly the steps to bring the indigenous bankers under the influence of
the RBI.

B8 argostioo RBI 90o0Besss® BinS et i) $850s 9980908

3. Explain the term 'Collecting Banker'. What are his duties and responsibilities?

SISV zo*goééo M DB0HOB. B BoE); &0 08 erc‘,ﬁéée» 997

4.  Write in brief the characteristics of Indian Money Market. Also state its role in
Economy.
gPEHA0H (3B moabos BoE); 0FeTe0 DHB0Y, eegé o“)?SégeS‘s TP B0 BOI)IN.

5.  Differentiate between mortgage, pledge and hypothecation. Also explain as a

banker which do you prefer as a security.

B9, D05 S8 ey (rHFESS)oRd DBH0D, ar0EKMT D 8 SHEBEIND?

6.  Trace out the origin, structure and functions of development financial institutions.

eﬂa?)éo)g éoée) QBoE); HeRs, DTYeI0 0B DEVORDD BEVYHAW.
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Features of Hire Purchase System.
o8 Sf'en HEB oFeren.

Profit and loss appropriation A/c.
erzﬁéage) DAARES Prese.

Creation of good will.
&S Dyoscso.

Calls in arrears and calls in advance.
B0 HAYS dewHe B deYed® wseane.

Difference between Single Entry and Double Entry.
2083965 DGO - 2508 HEY DGHo D5 Ko dcoen.

Objectives of Branch accounts.
[27°00 grEren, aéotire)o.

Features of income and Expenditure A/c.
BTaDh -H0Ie B VFETED.

Fixed—Fluctuating Capital methods.
9%)6 — 38 [0S PrTre égé’é.

X Ltd. Sold a motor cycle on installment system to Y Ltd. On 1-1-2003, The cash
price was Rs.7,450. Rs.2000 to be paid on delivery and the balance in the three
installments of Rs.2000 cash at the end of the year. The rate of interest was 5% p.a
Buyer depreciates the asset at 10% p.a on reducing installments basis. Write
entries in books of buyer.

X Ltd, Y Ltd. & 28 30,6 28endn 1.1.2003 T TP00m°e :;gé’a;g SERVES JDo8.
o I 8 87450, S¥e 3oy &, 2000 ST AIIB 0. 2000 FSyS
200 Tomres® SodSyEos’y DYossed &otwoB. SEBen PodSYI8 5%

Arun



10.

11.

ER0R eEE) & FOSETIS 10% TS SHSd) doge SEBD SHIHEe B8)Res0.
EOR VT PSS BH BN Sen @FaHod.

The assets and liabilities of Sridhar, a sole trader, on 31.12.2014 and 31.12.2015
were as follows.

Particulars 31-12-14 31-12-15
Bank A/c 5,000 8,500
Investments 10,000 10,000
Sundry Debtors 14,000 14,000
Bills receivables 7,400 7,400
Stock in Trade 27,000 38,000
Buildings 40,000 50,000
Creditors 12,000 10,500
Bank loan 5,700 6,000

Additional Information :
(a) Additional Capital introduced during the year Rs.12,000.
(b) Drawings taken from the business Rs.6,700.

Prepare Statement of affairs and Statement for profit or loss for the year ending
31-12-2015 in the books of Sridhar.

Rro8ge8 B6 2,036 IFPR0S” HITPen FPolDTE. OB &Y - Bped IHToeD
31.12.2014 5600 31.12.2015 880 BoBDFOT G3)8.

DHo°0 31-12-14 31-12-15
ANORVERL 5,000 8,500
NN alet oy 10,000 10,000
220083 ($e0 14,000 14,000
SAarcensroden 7,400 7,400
DS dexg 27,000 38,000
AREVO 40,000 50,000
2VEITI°HED 12,000 10,500
250HS” 63y 5,700 6,000

29I RIPB0 :

(@) S0HBYESLOS” HEIBYS BEIY JarreEso 80 12,000

(b) ArodTeEssEen SUC. 6,700

D988 DDBE, ergfdare BB 31.12.2015 BEE eosiodly 90118 SAHIALOE.

The following was the balance sheet of A, B and C on 1st June 2006.

Liabilities  Amount Assets Amount
Bill payable 3,300 Cash 600
Creditors 6,000 Debtors 10,800
Capitals Stock 11,400

Arun
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12.

Arun

A 16,800 Furniture 2,400
B 12,600 Building 19,500
C 6,000

44,700 44,700

They agreed to take X into partnership on the following terms.

(@
(b)
(©)
(d)
(e)

The X Should bring Rs.15,000 on Capital and Rs.9,000 for goodwill
That goodwill amount should not be left in the business.

That stock and furniture be depreciated by 10%

That reserve of 5% on debtors be created for doubtful debts.

That the value of building should be raised on Rs.27,000. Write necessary
entries and prepare necessary account and show the opening balance sheet of
the firm.

& 1, 2006 A, B 800 C © e e93yp0 563 (808 Desore &s08.

@K)Qpe)o oo  esyen oo
SToroden 3,300 NTatad) 600
2000£3T°¢H e 6,000 mDS’ALKXBeD 10,800
BARLCTATNe DK 11,400
A 16,800 $8)36 2,400
B 12,600 @3Hmred 19,500
C 6,000
44,700 44,700

808 D205530% Sl X 0 grKRIT S80S 0w @ofsBodos.

(a)
(b)
(c)
(d)
(e)

-

o)
o

29"??@“583)5@ Qﬂc_?)p

X &, 15,000 Soocesso 180 8. 9,000 1H&EDS 180 S0 oPdS0.
10EIS Bgo TorEoeS” GoSTe.

S0R0Y) DED, ;)6&1:58 Devsen 10% SRoTd.

20083(00 5% T°R) 2°8end &oBHB.

gIdren denden Bi°. 27,000 5 DoRHS.

BTN BSIBPN DeTIERL FPR WIICPY  PErOn  SOLTHBD e

S50 $3D SATEBADOE.

From the following particulars, Prepare Receipts and Payments account.

Rs.
Cash in hand 500
Cash at bank 600
Rent paid 400

Subscription received 3,100

3 (DBC 22)



Interest received
Investment purchased
Postage

Cash balance at close
General Expenses
Tournament Expenses

85 808 D008 Hrey) 8AH 3YoHe PrBed SALIADOE.

&oe.
S K 500
aréos‘oeSs ANRED 600
390D &3 400
IS KSowe 3,100
@153!)?2):6 éé 200
Degard STR% 500
SR 100

So0R0) KD dog 50

I nletor) gpéoz)e)o 150
&)88&355 Loy 200

200
500
100

50
150
200

Arun
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Arun

1. PQR Ltd. issued 10000 — 10% debentures at Rs.1,000 each pass necessary Journal

entries in the following cases.
(a) Debentures issued at Rs.950 repayable of Rs.1,000 each.
(b) Debentures issued at Rs.950 repayable of Rs.1,050 each.
(¢) Debentures issued at Rs.1000 repayable of Rs.1,050 each.
(d) Debentures issued at Rs.1050 repayable of Rs.1,000 each.

PQR Ltd., 10% &aryoed&® 10000 &BosE) er830% arer @bendss 1000 DATeSI

:()ocﬁcﬁaboess DeTHe0 @AHod?

(@ 1,000 £ DITSP0 D Iooye0 HE GBoBE 950 > &°8

(b) 1,050 £ DITSP0 DY IT°Ye0 HG GBOBLLD 950 ¥ &8
(© 1,050 £ DITS50 DD Iooye0 HE GBoSEE 1,000 ¥ 78
(d) 1,000 £ DITSB0 DY Io*Ye0 H GBS 1,050 K &8

2. X, Y and Z are partners sharing profit and loss equally. Their balance sheet as
follows :
Liabilities Rs. Assets Rs.
Creditors 70,000 Bank 1,20,000
Reserves 60,000 Debtors 80,000

X-Capital 2,00,000 Machinery 1,50,000

Y-Capital 1,50,000 Closing stock 70,000

Z-Capital 1,00,000 Investments 1,60,000

5,80,000 5,80,000
Mr. Z decided to retire the business on the following conditions:
(a) Goodwill of the firm valued at Rs.45,000.
(b) Depreciate machinery at 10%
(¢) Closing stock revalued at Rs.85,000
(d) Bad debts on debtors Rs.3,000
Prepare necessary accounts and new balance sheet.

8 wﬁﬁvsméoés X, Y 08050 Z &3 R0 ddedore @zﬁé%@a D008 0. I8

93 OO 563 Ho|80B Do &S
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BIPED &oe. €000 &oe.
BVEITCEHED 70,000 2508 1,20,000
Basthgen 60,000 @e|IRen 80,000
X S00°0830 200,000 ODo@een 1,50,000
Y Sooreddo  1,50,000 SoRoY 3% 70,000
Z 500550 1,00,000  @eyeceen 1,60,000
5,80,000 ~5,80,000

T80 300D Z DEN0HE B OB, 581808 D20EHeD Fe30SIBR.
(a) Doy KHEDS K. 45,000 eorr Jend ey o

(b)  AHOEHND 10% SEHES Sk

(©  B30R0Y FWE HIEITYLrES Do 83, 85,000 e YOOI
(d) eooesiep o°d erden &ur. 3,000
SIDEPI PrTren 2BAL 5 &R - ©DpPo I S HBADE.

Jain Bros. had a Branch at Kolkata. Goods are invoiced to the branch at cost plus
25% Branch is instructed to deposit cash everyday in the head office account in the
bank. All expeses are paid by the branch manager from the following particulars,
Prepare branch account in the books of head office.

Stock on 1.1.2015 2500
Stock on 31.12.2015 3000
Sundry debtors on 1.1.15 1400
Sundry debtors on 1800
31.12.15

Cash sale for the year 10800
Credit sales for the year 7000
Cash remitted to the 15000

head office

8BS Wby 3788 Le¥ms’ prod Su.

Furniture purchased by the branch 1200
manager

Goods invoiced from the head office 18200
Expenses paid by the Head office 1640
Head office sent cash to purchase sale 1300
for the branch

Expenses paid by the branch 120

E7°058 HHHO[ PBEO 25% M BTN H0JB.

B8 & D DY), WD PrErS® KK EeRed Bardyd Erons edwrey
H0DB. ey PENOD Erod DIwd Y. 808 INres & SR YIS’ [@rod

TP SOLEBODoE.
DAY 1.1.2015 o038
DAY 31.12.2015 7038

2500

3000

AAG 2wvesien 1.1.15
ADG 2wvvesigen 31.12.15
es éo;ﬁé{béoeSG B hafal)

10800
easﬁoés*’e)o

1400
1800

00 oResb S 0f’en BN $58y36 1200
& edH 2009 BwonR  Bavads 18200
DB

& e DYoDS Py 1640
2D TR0 rEeDO Do S 1300
2770 3YoDD PBye0 120

Arun
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B8 PoIHBoS s
7000
@;Soéven

6 esH0K 50D 5K 15000

Birla company Ltd issued 10,000 equity shares of Rs.100 each payable Rs.20 on
application. Rs.40 on allotment Rs.30 on first call and Rs.10 on final call. All the
shares were subscribed and the amount duly received. Pass necessary journal
entries in the books of the company.

D KoY 10,000 Sedgedareren e 28,0638 &r°. 100 FIps &8 T, doew
BoBore o).

S8z oY 8. 20

8670000 R K. 40

F0EE3 Den) Boe. 30

Bocsd EBDevYHP 8°. 10

Teed ©R) HOT ©oNND FET BYoHen BRI, Lo DIr0S® @BHE00
DeFBessen Erobod.

Prepare Income and Expenditure A/c and the balance sheets from the following
receipts and payments A/c for the year ending 31.12.2015.

Dr Receipts Rs. Payments Rs.

1-01-2015 31-12-2015

To Bank A/c 15,300 By Salaries 11,000
31-12-2015 By Stationery 2,700
To Subscriptions 12,500 By Repairs 3,200
To Donations 7,900 By Office Expenses 4,100
To Lokers rent 3,800 By Machinery 14,000
To sale of old furniture 6,200 By investments 8,000
To Legacies 10,000 By Balance c/d 17,000
To Entrance fees 4,300

60,000 60,000

Adjustment:

(a) Subscriptions outstanding for 2015 Rs.1,500 and received in advance Rs.800.
(b) Outstanding salaries Rs.3,000

(¢) Depreciation on machinery was Rs.1,000.
(d) Interest due on investments was Rs.500.

BIDS BVNS SAen 3oHen PrEe 31.12.2015 00D eSTrahIgare rEe So8ain &)

- 930 3630 SIS,

S04 &oe. 3Qoyen Eoe.
1-01-2015 31-12-2015
To e50%¢° dog 15,300 By @@ren 11,000
31-12-2015 By 358 2,700
To Soween 12,500 By o80eden 3,200

Arun
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To Jorgren 7,900 By 390 P 4,100
To &5by &8 3,800 By dboren 14,000
To @vééa&ég ®3ys0 6,200 By deyechen 8,000
To S85E°gen 10,000 By 89y dex 17,000
To [H3FE080 4,300

60,000 60,000
E()Cﬁé)au"w :

(a) 2015 % éoée‘%m&)% 0003 G%é’)“)é Sozren 8°.1,500 08050 S0 SASN
Soeen o ééclg) &o°. 800

(b) 3oBdeRD Beren &°. 3,000

(€ aboErep BSHESe . 1,000 o

(A Depukep o9y $& 8. 500 Ko

AB Ltd invited applications for 1,00,000 equity shares of Rs.10 each payable as
Rs.2 on application Rs.3 on allotment and the balance on first and final call.
Application were received for 300000 shares and the shares were allotted on a
prorate basis the excess application money was to be adjusted against allotment
only "M" a share holder, who had applied for 3000 shares, failed 90 pay the call
money and his shares were accordingly frofeited and re-issued @ Rs.8 per share as
fully paid pass the necessary journal entries.

A.B 08E& 7°tH 1,00,000 &68ce3 60 &5, 10 Spd S8grgen 5098, S8’
85 2 e SerrooHE e, 3 WROD Bugo Ineses S IS8 edHE Dowdey =B
J28. 3,00,000 Trer0% SEPTReD T (636D ngé’ag BeT°0000D ), BSEP) R0
Ber0000) IGeren BIB. M 9% Termeddedy 3,000 ToeroH B8Ry 902, 3eranod
e B, 90 BYoDI0WN WS Tero B W HBR Sv. 8 Jror 3Dod
Trereore HBR &8 BB, IV VeTHien @aHod.

Arun
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ASSIGNMENT 1
B.Com. DEGREE EXAMINATION, DECEMBER 2020.

Second Year
QUANTITATIVE TECHNIQUES - I1

MAXIMUM MARKS : 30
ANSWER ALL QUESTIONS

What is meant by an index number? What are its uses?

RIEDD0g VITPR? T [HATeTe0 Beod.

Justify Fisher's index is an ideal index.

3’*’&50 2oed) Bogyg e 0P Bogg & :)%oaoao&.

Explain the method of moving average.

S5O ESAIAIWAS) écg@r‘i) DS5BoBS0k.

Explain graphical method to find trend in time series.

598 SPodtos” 3&?363@3 (%) D58030E.

State and prove multiplication theorem of probability.

Rogrdgee Hesse gacgp“oémm (D5D0D ABI*D0506E.

Conditional probability.
AADES Hograigd.

Differentiation and Integration.

29380300 DB DATEORS0.

Graphical Solution.
55 583, So.

Calculate various price index numbers to the following data:

. Price Quantity
Commodity =5 75-" 0608 2005 | 2008

A 40 | 50 | 2 6

B 50 | 40 | 4 8

C 20 | 30 | 6 9

D 10 | 20 | 8 6

Arun
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10.

11.

12.

DD 8500 80 ST Kedosod.

S350 Q8 HBJorer0
2005 | 2008 | 2005 | 2008

A 40 50 2 6

B 50 40 4 8

C 20 30 6 9

D 10 20 8 6

Find trend values by using method of least squares to the following data.

Year

2008 | 2009

2010

2011

2012

2013

2014

Sales

27

38

44

35

51

58

50

o808 BE2oTR8 I S0 IPBS” (H5:3)8 Densod Kedosod

Joll 2008 | 2009 | 2010 | 2011 | 2012 | 2013 | 2014
VSRS | 27 38 44 35 51 58 50
Evaluate the following integrals
(@) [ax?dx
k
(b) [ zdx
e f 57x dx
3
@ [dx
(e) [x"%dx
a3 S3rEoTred SR k.
Solve the following LPP by using graphical method.

Maximize z = 45x; + 80x,

subject to the constraints.

5x; + 20x, < 400

10x; + 15x, < 450 and x4,x, = 0.

808 LPP 95035 [rosS 9g8&° defosod.
Z = 45x; + 80x,:0 KB‘%SGO&O&.

AL

93§ constraints
230

5x; + 20x, < 400

10x; + 15x, < 450
308050 x1,x, =0

Arun
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B.Com. DEGREE EXAMINATION, DECEMBER 2020.

ASSIGNMENT 2

Second Year

QUANTITATIVE TECHNIQUES - 1I
MAXIMUM MARKS : 30

ANSWER ALL QUESTIONS

1. Compute cost of living index number to the following data.

(DBC 23)

Commodity Price in Quantity consumed
Base year | Current year in Base year
A 50 75 48
B 60 75 20
C 200 240 10
D 80 100 22
E 800 1000 12

8 819D $T207°R8 IIBTHE DO 80 WVV0oPFH KedoSod.

S50 &35S D011
358 D011 §Y | DS Joll &Y NNBIRODS H5B37°e30
A 50 75 48
B 60 75 20
C 200 240 10
D 80 100 22
E 800 1000 12

Find a trend equation by using semi averages method to the following data.

Year | 2005 | 2006 | 2007 | 2008 | 2009

2010

Sales| 77

88 94

85 91

98

808 &Serozed8 semi averages bg@és 9 éil)ééwﬁ)& BoS06

Dol | 2005 | 2006 | 2007 | 2008 | 2009

2010

&$d| 77

88 94

85 91

98

Arun

A bag contains 4 red and 5 black balls. If two balls are drawn in succession, then
find the probability that they are two red balls when (a) with replacement, (b)
without replacement.
28 209 4 DY), 5 DY oW KoY. Do) B300& otiPég)Daéoﬁ" B0t 220een

e‘am:)opc@ )

BEYODE 9 K 8 éoch;De)eSe Ke3osod.

3

P woed THEIS Vogrsgd (a) BBA DBySoped (b) B6A
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Arun

Derive the following
(@) = (xe®)
(b) == (x%logx)

© <&

dx ~x

29 aéoga)&é ¢33 eﬂaﬁée)mf{)& Ke30S06.

If two cards are drawn from a pack of Cards, then find the probability that they
are (a) two aces, (b) a king and a queen.

2°rO 99 ﬁ)éé@; 300& Bokd s*’d(%o&i) oii)"’éo)ﬁbaéom @?or‘éa/)o})do e &8 1808 Do
oYl B0ogrRgsR0 Ke30S08.

(a) Bod esdvev

(b) 2.8 orer, a8 O°3

Solve the following LPP by using simplex method.
Maximize : Z = 3x; + 2x,

Subject to the constraints

X tx, <4

X1 —x; <2and xq, x, = 0.

6808 LPP 5305530 2038y 988&° a-Gosod.

Z = 3x, + 2x, 0 Kag}éﬁo{éo&.

é@g constraints

X tx, <4

X — Xy <2

308050 x4, x5 = 0.

4 (DBC 23)



(DBC24)
ASSIGNMENT 1

B.Com. DEGREE EXAMINATION, DECEMBER 2020.
Second Year

FUNDAMENTALS OF COMPUTERS
MAXIMUM MARKS : 30
ANSWER ALL QUESTIONS

Explain about RAM and ROM.
RAM 508050 ROM %809 9580%06.

Advantages of computers.

E0:J7ge080 Q308 (DA3TBI°L0.

How to give file names in DOS? Explain.

DOS &° S 3 de° 33E1? 9HB0HOE.

Write about formatting a floppy disk.

@;E) &R @v@a@g DaHeso K80 9H580H0G.

Write about Edit Menu.

G5 Do K78y (FPoH.

Write about Quick Menu.

8¢5 oo K78y [EPauHw.

What is machine code? Explain.

095 §%& 9 3072 9H80%08.

What is the meaning of compilation? Explain.

E0pBIS @R ego 2? 2580H0G.

Explain different types of ROM.

WS 8



10.

11.

12.

§25065° 29 Ese00 9HB0HHN.

How to create and remove directories? Explain.

355801 e HATH Betd 0% EORID? 298090

Explain about testing process.

BROR 0 K78y 980WH0G.

Write the purposes of business All Purpose Symbolic Instruction Code (BASIC)
language.

BASIC erofigh Bu¥); e38r°K0 K778 [@Posbm.

2 (DBC24)
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(DBC24)
ASSIGNMENT 2

B.Com. DEGREE EXAMINATION, DECEMBER 2020.
Second Year

FUNDAMENTALS OF COMPUTERS
MAXIMUM MARKS : 30
ANSWER ALL QUESTIONS

1. Explain the characteristics of computer.

Eorgnd By, oFeTe K08y 95B0HI.

2. Write the impact of computers on Business and Society.

To§E0 OB BHee30p EoJegead B, (SerHo K8 [Erasuw.

3. Explain about DOS internal commands with examples.

DOS 30653y 55708 K08 &or8e0&” 9580w0d.

4. What are the features of word processing under DOS?

DOS 5:50506° 55 @F50R Bk, 0¥eTe0 0 &I3007?

5.What is flowchart? Explain different flow chart symbols with examples.
TP DT B2 IV 850 Ph Do) K18y &rirsend® 9580Ha0.

6. Explain how to assign, read and display data in BASIC with examples.

BASIC eroRg&eS’® e D8H0 Daneso, A08%Se00 08050 BIrDoHeso K8 SOPTEer &’

DDBoWOR.

3 (DBC24)

WS 8



